0 000°089 88.°68¢ L2062 0 0 0 0 0 000°05€ 6FELTLE uayBugisuonysany) sne uabunjyezsny = '9)
0 000°089 98/'68¢ 112062 0 0 0 0 ] 000°05¢ 67€LLE uswyeugewneg iy usbunjyezsny - '
0 00866}~ 00¥'€T- 00v'Ze}- 0 0 0 0 0 00¥'€2- 000 yoxbngisuonsany| sne uabunjyezuiy = g
0 008'S51- 00v'€e- 00¥2eL- 0 0 0 0 0 00¥'€c- 000 usBunpuamnzsuogsaay| sne uebunjyezuiz  + |
yiedipe)s Bumyonajeg £5€q
0 000°01E" 000°01€" 0 0 0 0 0 0 0 000 usyBuglsuoiisaau| sne oples = L)
0 000'01¢- 000°04¢- 0 0 0 0 0 0 0 000 yeybueisuonnsay) sne usbunjyezuly = g
0 000°Q4€- 000°0i¢- 0 0 0 0 0 0 0 000 usBunpuemnzsuofnsaay| sne usbunjyezug  + )
(lynqueuynH-iSIdH PsIayioM) Y.L JSWEND|OA Neqsny 7584
0 0007052 0 000°0S2 0 0 0 0 0 0 000 yeyBngisuopisaAu) sne opes = )
0 0007052 0 000°052 0 0 0 0 0 0 00'0 uayBugisuoisaay) sne usBunjyezsny = 'g)
0 000052 0 000°052 ] Q 0 ] 0 0 00°0 uslyeugewneg Jny uabunjyezsny - 6
ayojxog Bun|sysamsnejeuey 05£0
0 0ov'slL oov'llL 0 0 0 0 0 0 0 000 yeyBumsuonisaAu) sne oples = °l}
0 00¥'LL 0¥l 0 0 0 1] 0 0 0 00'0 yoybueysuoiyysany) sne uabunjyezsny = ‘gj
] 00%21 00p21 0 ] 1] Q 0 0 0 000 uswyeugewneg anj usbunjyezsny - g
ayojxog Bunyesabuin 6¥E0
0 09v°'92 0¥l 0 0 0 0 0 000°6Z 0 00'0 uoxBligisuonysany] sneopjles = L1
0 09¥°9¢ 09¥° 0 0 0 0 0 00052 0 000 yayBneisuoniseay sne usBunjyezsny = ‘gl
USpnEqac) pun uajyoey uaydialbsyomspurib
0 0st'L 0st'l 0 0 0 0 0 0 0 000 ‘UsyonIspuUnIS) UOA qlamu3 usp Jny cmmcz_cﬁw:«_ A
0 000°6Z 0 0 0 0 0 0 000°5¢ 0 00'0 uswyeugewneg Jry uabunjyezsny - 6
[ Bamuloyy neqsny 265
0 19672 196°L 0 0 0 0 0 0 0 00008°}- yeyByejsuonsaAu sne oples = L
0 L9016 196 0 0 0 0 0 0 0 000 yaxBheisuonsanu) sne uabunjyezsny = "9}
uapneges) pun usjyosy usydis|Bsyonispurub
0 191°6 19016 0 0 0 0 0 0 0 000 ‘UBomSpunIS) UoA quemu3 uap Jny uabunjyezsny - |}
0 008°}- 008'}- 0 0 0 0 0 0 0 00'008'}- uayBneisuonisanl sne uabunjyezuiy = g
1 0l 6 8 v 9 S ¥ £ 4 |
dn3 dn3 un3 dn3 N3 Hn3 N3 un3a yn3a dn3 dn3
NyezeB uieisebyeiaq | eayefebloq (44174 1202 0202 6102 6102 8107 1102 Heyuj '80d
s)jesaq uoe( | Besjaqwesas Jaysig ue|d uejd uejd ueld A uejd ueld s|ugefig
Jomuip Jop Bunyeisen ¢ ayoesaqpnposdydney
£Tvovl sziyn
L wnje S —
b e 6102 Juolsieqnsuonysony) I

HIVEVMHOIS 1QVIS

-81-



0 60L°€52" 60L°€5C 0 0 0 000 uayjebjug pun uabenieg sne uabunjyezuiy + 7
B pns ageis JaBiaquaqy neqsny 99ed
0 00002 00051 000°S 0 0 000 uexBupisuoniiseAu sneoples = )
0 000'02 000'S} 000'S 0 0 000 uayBejsucimsanul sne usBunjyezsny = g}

0 00002 000°S} 000°S ] 0 000 uswyeugewneg Jny usbunjyezsny - ‘g
(uapng pun uapJoN Bunjysty) einyasieyjesaimz Baminyag E&

0 000°s1 0 000'S} 0 0 000 yexBnejsuonysaau| sne oples = ‘L)
0 00051 0 000'SL 0 0 00'0 yaybueisuoiyysanul sne usbunjyezsny = ‘o)

0 000°G} 0 000°5} 0 0 000 uswyeugewneg Jny uabunjyezsny - g
_‘ [9s9MZjydequiieg SMH - Heylajuniassemag nm&
0 000°0LL 001'zL 006°L6 0 0 00'0 yaxBrgisuonysaAu| sne oples = ‘L1
0 000°0L) 00)'ZL 006°26 0 0 000 yoyBuejsuonyseay) sne usbunjyezsny = ‘g

] 000°041 001¢L 006'L6 0 0 000 uswyeugjewneg ny usbunjyezsny - ‘g
(98 apie3uy) aysompe)s 4nj BunBejieljuapieds - uswyeugewnegjeuey nmnl

0 000°085 000°04S 000°0S 0 0 : 00'0 ueyBieisuonnseaul sneoples = ‘|
0 000°095 000°0LS 000°0S 0 0 00'0 yayBugisuonsaay) sne uabunjyezsny = “gL

0 000°095 0007018 000°0S 1] 0 000 uswyeugewneg i usfunyezsny - g
Jayiemysels wy, Bunjsysemsnejeuey mmmg

0 TOL'Y6 T0L'v6 0 0 0 00‘0 yeybpisuonyseAu| sneoples = L1
0 Z0L'P6 20.'y6 0 0 0 00°0 uayBppisuonyisany) sne uabunjyezsny = ‘9L

Q 20Ly6 2046 0 0 0 00°0 uawyeuyewneq Jnj usbunyezsny - g
aylamneqiapuog Bunisiues - uswyeugewneqjeuey mm«i

0 Bvl'9e 6rl'9t 0 0 0 00'0 yeyBppisuonnseAu| sneoples = )
0 6¥1°9¢ 6¥1'9¢ 0 )] 0 000 yaxbyeisuoiuisaay) sne usbunjyezsny = 9|

0 61 9¢ 6%1°9¢ 0 0 0 000 uauiyeugewneq Jny uabunjyezsny - g
ayjlamdwng Buniaiueg- uswyeugewnegeURYy wm&

0 00Z'¥2S 88€'99¢ L8151 0 009°92¢ 6VELEIE MeyBelsuoiisaAu] sne oples = ‘L)

13 0f 6 8 z 9 § ¥ £ [4 |
dn3 un3 dn3 dn3 Hn3 dn3 dn3 N3 N3 dn3 dn3
Yyezeb NieiseByaleq | aiyefeBjo4 Zz02 1202 0202 6102 6102 8102 L1102 Heyul '80d
sjiaiaq uoae( | Benaqiuesas Iaysig ueld uejd ueld ue|d JA ue|d uejd sjuqebig
Jemwp sop Bunyeysegy ¢ ayslasaqnpoididney
XA iR ) PLZIyn

ol wnje apeissebaiuanien s
o 1 6102 Juoisiaqnsuopnsenu) | | |

HOVEVMHIS 10vIS

-82-



0 000'0Z€ 0z 6.9'20¢ 0 0 0 0 0 0 SK0ZLZL uoyBugisuonsany) sne usbunjyezsny = "9}
0 000°02¢ 0217 6.9°/08 0 0 0 0 0 0 TRAN] uswyeusiewneg iy usbunyezsny - '
 agens Jayun SYDIRSQIRYRAS J0ydequirT Negsny 180
0 955, 955°L 0 0 0 0 0 0 0 00'0 yeyBygIsuONSOAY| SNE 0PIES = 2}
0 9564 956'L 0 0 0 0 0 0 0 00 uayBygrsuonnsany) sne usBunjyezsny = g}
0 956/ 9557 0 0 0 0 0 0 0 000 uewyeusiewneq Jny usbunyezsny - 6
Bungaljyosi3 - ‘g Jeyoeqsiebey | ‘g Jeydeqsuy 08g0
0 960'L62 960'L62 0 0 0 0 0 0 0 00'0 ; yeuBuigisuonisaAu| sne Oples = L)
0 960'267 960'467 0 0 0 0 0 0 0 00'0 yeyBpeysuonysanuf sne uabunjyezsny = 9
0 960°267 960°462 0 0 0 0 0 0 0 009 uswyeugjewneg ay usbuniyezsny - g
150pDS A Bunisues - sjeyusuemydg L260
0 £L0'9 £L0'9 0 0 0 0 0 0 0 00'0 uoyBugIsuONNSaA| SNE OplES = °LL
0 £40'9 £L0'9 0 0 0 0 0 0 0 00'0 vexBlgisuonnsany sne uabunjyezsny = g
0 £209 £209 0 0 0 0 0 0 0 00'0 uswyeusiewneg 1y usbuniyezsny - g
J94NQ Nequin - ZiE|daPUB HOPSIYIOM sie0
0 000'0€ 0 000°0¢ 0 0 0 0 0 0 00'0 yoxBugisuonseAy) sne oples = 'z}
0 0000 0 000'0¢ 0 0 0 0 0 0 000 uoyBugisuonysanu) sne usBunyyezsny = 'g}
0 000°0¢ 0 000°0€ 0 0 0 0 0 0 000 uswyeugewneg Jny usbunjyezsny - g
ﬁ yaniqqejeury - uyeg/egensiyni4 EML
0 859°0¢ 85902 0 0 0 0 0 000'04 000'04 8g'sie'e yoxBRgIsuonnsaAY| shE OpleS = L)
0 869'0 859'02 0 0 0 0 0 000°04 000°0L 8E'GIE'E yoxBpgisuopsany) sne uebunjyezsny = 9}
0 85908 85907 0 0 0 0 0 00004 0000} 8E'GLE'E uswyeusiewneg iny usBuniyezsny - '
2UIB}SqRID AYOSLIOJSIY 4Ny UYL - JOypall : 150
0 812201 611201 0 0 0 0 0 0 0 00'0 yexBugisuolSeAu| SNE OPlES = 'Z)
0 g2y'95e 8zv'96¢ 0 0 0 0 0 0 0 00'0 yeyBugisuonsany sne ueBunjyezsny = 9}
0 82y°95¢ 92y'95¢ 0 0 0 0 0 0 0 000 uewyeugewneg iy uabunjyezsny - g
0 6OL'EST-  60L'65Z- 0 0 0 0 0 0 0 00'0 yaxBygsuonnsanu| sne uaBunjyezuy = g
L 0l 6 1] L 9 S 14 £ Z 3
L[AE| LE] Hn3 dn3 Hn3 Hn3 dn3 on3 on3 un3 dn3
Hyezeb HioyseByaiaq | oiyefeBjog 20z 1202 0202 6102 6402 8107 1102 Heyu) s0d
spalaq uoAeq | Bensquuieses |  saysig ueyd ueld ueld ueyd A ueld uejd siugabig
yemuwn sop Bunyeises aysteseqpinpoididney
£TY0vl sziyn
810Z’L1'9Z  wnjeq it it in e
29  9)19g 6102 yoi1ssoqnsuonnsanu] B[ |

HOVEVMHDS

b LOVIS

-83-



0 00g'L8- 00219 0 0 0 0 0 0 0 00'00€'t us)jebiug pun uabeyeq sne usbunjyezuz + g
_ OAZInYaswneg sne uawyeuu|3 usjsodiepuos - Bununibagipeis mn&
0 09l 0Ly 0 0 0 0 0 0 0 00' yeuBgsuonysaaul sneoples = ')
0 9.y 9Ly 0 0 0 0 0 0 0 00'0 yexBupisuonyysay| sne uabunjyezsny = 9}
] 03l 08l 0 i} i} 0 0 0 0 000 uswyeugewneg Iny uabunjyezsny - 6
192 3P gNj, PIBIGRIO - JOUPRLIPIEM 280
0 000°L2¥ 081°0LL 028'95Z 0 0 0 0 0 0 00'0Z1°521 uoybljelsuolisany| sne oples = i)
0 000°9%0°} 00€°562 00£°0SL 0 0 0 0 0 0 00'0 yeyBueisuomisaaul sne uabunjyezsny = ‘9
0 000'9¥0°L 00€°562 002052 ] 0 0 0 0 0 000 uswyeugewneg iy uafunjyezsny - 6
0 000°6}9- 0Z}'sZ)- 088'E6y~ 0 0 0 0 0 0 00'0Z1°521 yeyBygjsuonnsanul sne uabunjyezusy =  °g
0 000619 ITANTAS 089°€6 0 0 0 0 0 0 00024524~ uajjebju3 pun usbegieg sne usbunjyezuiy + 7
Bungalyas.3 - joyBug wy joigabneg sgeg
0 pLE'69" PLE'SY 0 0 0 0 0 0 0 00°007'% yoybBleisuoiseAu| sne oples = /|
0 yLE'GY- yi£'69- 0 0 0 0 0 0 0 00'00¥°9 yayBreisuonnsanul sne uabuniyezuiy = g
0 7L6'8S vL6'85 0 0 0 0 0 0 0 00°0 uayebiu3 pun usbenieg sne usbunjyezuy  + 7
0 00F'9- 00t'S- 0 0 0 0 0 0 0 00°00F'% uabunpuamnzsuonnsenu) sne usbuniyezuy  + |
pION ogexg JeBiequaqy negsny v8£q
0 509'29 509'25 0 0 0 0 0 000°01 000701 8£'509'Ly yeyBrigisuoiisaAU| sne oples = /|
0 509'/9 §09'L6 0 0 0 0 0 000'04 0000} 8€'509' LY uaybejsuonnsenu) sne usbunjyezsny = '9)
uspuejsusbiabisuabouusp
0 509'29 50945 0 0 0 0 0 00001 00004 8€'509'LY us|jeusiewWwW! LUOA qiami3 uap iny usbunjyezsny - g}
_I ebejuesuoissnysig pun Bunjejssny - || sneysebing 2&
0 09%°LLL 09%°LLL 0 0 0 0 0 0 0062 000 yeyBngIsuonnsaAu| sne oples = “L|
0 09¥°LLL 09 LLL 0 0 0 0 0 0 005°L 000 yeyBneisuoiisaay| sne usbunjyezsny = ‘g
0 09y'221 Q924 0 0 0 0 1] 0 004°L 00'0 uowyeusiewneg Jny uabunjyezsny - ‘g
Ziejdyoq Bunjjejsag - popsiayiom Nu&
0 000°02¢ (744} 648°L0¢ 0 0 0 0 0 0 SHOZLETL yexBneIsuonysaAul sne oples = L)
I 04 6 8 . 9 5 ¥ £ z l
Hn3 N3 yn3 N3 N3 un3a N3 Hn3 N3 N3 dna
Yyezab Wieysebyeieq | auyefabjod (44114 1202 0202 6102 6102 8102 1102 Heyuy 'sod
s}ialaq uoAeq | Beneqiueses |  Jaysig uejd ueld ueld ue|d JA ueld uejd sjuqefig
yemwn Jop Bunjjejseny ¢ ayatasaqpinpoldidney
£TY0hL p|ziyn
8L0Z'LL'9  ‘wnleq
9  ayog 6102 oisieqnsuonysaau] I

HIVEVMHDS

F

-84-



0 000'8 0 000°8 0 0 0 0 000 uswyeugjewneg Jny usbunjyezsny - '
u?)soy ue Jpe}s Jap BunBijisyeg - usqeiBiuiod uie Bomyag ES_

0 : 000°S 0 000°S 0 0 0 0 00°0 yeybypisuCIISaAY] SNR OPlES = [
0 000'S 0 000'S 0 0 0 0 000 uyBueisuonsanu) sne usbunjyezsny =  ‘9)

0 000°S 0 000§ 0 0 1] 0 000 uswyeugewneg Jny usbunjyezsny - '
: (ainyosuauiasey aljy) ¢ IS Jepopudzuad 19q Bunisyelqieabamyas SE

0 005°€SE°) 006°€ST 000062 000°0SE 000°0S€ 000°005 000°052 00'0 yeyBnejsuonnsaAul sne oples = '/}
0 006°€6€E"} 005°e52 000°05Z 000°0SE 000°0S€ 000°00S 000°052 00'0 ysyBgsuoiisanul sne uabunjyezsny = '9)
0 005°€SE") 005652 000052 000°05¢ 000°05¢ 000°005 000°05¢ 000 uswyeugewneg Jnj uabunjyezsny - 6
yaequaydiauajun m::._umcuw_mcmv. mmml

0 00558 006°68 0 0 0 0 0 0o'0 yaxblgisuosaAy] sne oples = L)
0 005°68 00568 0 0 0 0 0 00'0 yayBupsuonnsaau) sne uabunjyezsny = "9}

uspuejsuabiafisuaboulap

0 005°8 006'58 0 0 0 0 0 000 usjjeualeww| UoA gienu3 uap any uabuniyezsny - "0}
Biaquip ipeis aqebizqq - JoylyniHopsieyjom Buniajuesjeuey mm&

0 9.1¥'8¢ 966'6T 616°C1 0 0 0 0 000 uexbneisuoinsany sneoples = /)
0 9.¢'8¢ 966'6C 616721 0 0 0 0 00'0 yoxBueisuonseay) sne usbunjyezsny = "9}

uspuejsuababsuabouuap

0 9.¥'8 9ly'e 0 0 0 0 0 000 usjjeusjeww! UoA qiamg uap uny usbuniyezsny - QL

0 000°0¢ 08%2) 6151 ] 0 ] 0 000 uswyeugewneg inj usbunjyezsny - g
JaBuejsg we sinoaseduauoijesauas) sauje Bunyaug B&

0 062'Sk 062'G} 0 0 0 0 0 00'0 yexBnEIsuonysaAu| sne oples = 'L}
0 06Z'S1 06Z'G1 0 0 0 0 0 000 yeyBupisuonnsey| sne uabunjyezsny = 'gj

0 062'S1 06¢'S1 0 ] 0 0 0 000 uswyeugewneg Jny usbunjyezsny - g
— wneuabe] nequy - || sneyssbing :.@
0 00T715- 00T 15" 0 0 0 0 0 00'00€'v~ uaybnesuonsaAu| sneoples = L

0 0025~ 00216 0 0 0 0 0 00'00€' ¥ yaybnejsuonnsanul sne usbunjyezuiy = ‘g

b 0t 6 2 i 9 S ¥ £ “ }
dn3 un3 EIE] dn3 N3 Hn3 un3 dnd EUE] dn3 N3
¥yezeb Yiesabyaiaq | asyefeblod (2414 1202 0202 6102 6102 BL0Z 1402 : Heyu| '§0d
sjlaiaq uoae( | Benaquesan laysig ue|d uejd ue|d ueld JA ueld ueld sjugabi3
Hemwp Jop Bunyeissg ¢ ayoiasagqpnposdidney
£Tp0-vl sziyn

L ‘wnje +8giy20p100 *1o
b e 6102 Juisssqnsuonnsaau] I | |

HOVEVYMHIS 10V.S

-85-



0 0000} 0 000704 0 0 000 yeyBijgisuoiysany) sne usbunjyezsny ‘91
uapuejsuababsuabouuap
0 000°01 0 000704 0 0 000 . usjjeusjewwl UoA Gismiz usp Jny uabunjyezsny ‘0l
ZiejdyeduajesBy ey we uayasnegyapep Bunjysusenay qni
0 000'SL 0 000°6L 0 0 00 yeyBne)suonIsaAu] sne opjes ‘LL
0 000'S2 0 000'SL 0 0 00'0 uaxybueisuoiiisau) sne usBunjyezsny ‘9)
0 000'6L 1] 00062 0 0 000 uslyeugjeineg Jny uaBunjyezsny 6
Ze|hied Bunbejiap - agess Jauisis 0ew)
0 w9 44 0 0 0 00'0 yaxBlygIsucnIsaAy] sne opes L
0 aa) 44) 0 0 0 00'0 uayBueisuonisanul sne uabunjyezsny 91
0 ¥9 ¥¥9 0 Q 0 00°0 ustuyeusjewneg Jny uafiun|yezsny 6
Zie|d|j@isjiqowuyop Bunyoiig —N_i
0 819'5 819'GE 0 00002 0 91'819°GE yeyBleIsuoINSaAy| sne oples L
0 819'65 819'GE 0 000'02 0 91'819'GE uayBryeisuoiyisanu) sne uabunjyezsny ‘91
0 81966 819'GE 0 00002 0 91'819'G¢ uswyeugewneg ny usbunjyezsny 6
say1g-3 Bunjysiisoaepen] [ joyuyeg we efejuejeisqepeliyey eui
0 005'29 005'28 0 0 0 01'GZE6L yayBglsuoiisau] sne oples ‘L
0 006'29 005°29 0 0 0 01'SZE'6L yayBieisuonnsaau| sne uabunjyezsny ‘9,
0 00529 0058 0 0 0 0L'62€'61 uawyeugewneg iny usbunjyezsny )
JuaqeiBiuiod Wy, |BUBYISSSEMUBYIRIIAG0 m_i
0 85.1°65 86165 0 0 000°0¢ 00'0 yexBpe)suonlsaAu| sne opjes ‘Ll
0 86.1°65 86.°65 0 0 000'0¢ 00'0 yayBueisuonnsaAu] sne usbunjyezsny ‘9L
uspue)jsuafisbisuafiouuap
0 8G1°65 85L°65 0 0 000°0¢ 000 usjjBLIBjeWLL UOA qianu3 Uap iny uabunjyezsny 0
uejie}syQ Jaydeqemyas Ul qiamequamsBuniougyasiep wsi
0 000°8 0 0008 0 0 000 yayBesuonseaAu| sne opjes “Li
0 000'8 0 000'8 0 0 00'0 yaxbneisuonnsaau] sne uabunjyezsny 9}
13 0l 6 8 il 9 S 14 £ z 3
dn3 dn3 Hn3 dn3 Hn3 =[4E} ¥N3 on3 Hn3 4n3 un3
Yyezab yisisabyaiaq | eyefeblo4 2202 1202 0202 6102 6102 80z 102 Heyu) ‘sod
spalaq uoAe(Q | Besaqiuesan 1aysig uBld ueld ueld ueld IA ueld ue|d sjugabig
jJjamuwp Jop Bunyeseg g ayolaseqpnpoididney
£2v0vl W8Ziyn
"LL9 wnjeqg i il
T 6L0Z Jyois1aqnsuonysoru; MG | |

HIVEVYMHIS LOVLIS

-86-



0 €8y cey 0 0 0 0 000 ‘uananispunIS) uoA qiamul uap iy usbunjyezsny - |
uabejumjied iny uayneqiny 6vvd
0 L0L'6¥6 L0L'6v6 0 0 0 000'2¢ Ty'selle uaybuesuonisaAu| sne oples = L)
0 L01'6¥6 L0}'6v6 0 0 0 0002 Zy'68.18 sy bnejsuonysanu) sne uabunjyezsny = "9)
0 L01'6¥6 101°6¥6 0 0 Q 0002 oy'68L18 uswyeugewneg iry usbunjyezsny - g
1121 Jay21jpns sgens Jayaeqsieny Bunjsysemsneeuey 3&
0 000°856 000°52 000°€E6 0 0 0 £9'798°0}. yexBnejsuonyseAu sneopes = /)
0 000'856 000'6¢ 000°€E6 0 0 1] £9'798'01L yoxBugisuonnsany) sne usBunjyezsny = 'g}
0 000°856 000°5¢ 000°¢€6 i} 0 0 £9'p98°0L uswyeugewneg Jnj usbunjyezsny - g
sljodey yoieiaquagny Nequin - JOUPaLIIPIEM 8ER0
0 EVL9E EVEPL 0 0 00¥'Z2 0 00'0 yayblgsuonsaay sne oples = °/)
0 £p1°601 £VL6Y 0 0 00095 0 00'0 yayBnejsuonnsaau) sne usbunjyezsny = 'gj
18} UBUORASAAU]
0 008°€ 008 0 0 0 0 000 ay usBunpusmnz usieqiainge uoA usbunjyezsny - p)
uapuejsuababsuaboulap
0 £v6'L0L £76'Sh 0 0 00095 0 000 usjjsuajeww! uoA qienu3 uap any usbuniyezsny - "0}
0 000°69- 00F'GE- 0 0 009°g¢- 0 00°0 uaxyBngisuonysasy) sne uaBunjyezuiy = ‘g
0 000'69- 00%'GE- 0 0 009°€e- 0 000 uabunpuamnzsuopnsau) sne usbunjyezug  + |
wureiBosduspessed sgensjoquyeg jeiqebsbunyansisiup - 1sep nequinjpels hE
0 0082 ooz'z 009°¢ 0 000 0022 000 yexBugisuonsaAul sneoples = °l)
0 0082 00Z'2 009°¢ 0 0002 002 000 paybnejsuonsanu| sne uabunjyezsny = ‘g)
0 0082 002°¢ 009°¢ 0 000'2 0022 00'0 uawyeugewneg Jry usbunjyezsny - ‘6
Bunungzuj3 - yaeqemyss wnijuazsbunbiosjug omem
0 00Z'56 $68'09 GOEVE 0 0 0 00’0 yeybBnelsuonisaAU] sne oples = °l}
0 00Z'S6 #6809 SOE'VE 0 0 0 00°0 yeybieisucysany) sne usbunjyezsny = ‘g)
0 00256 ¥68°09 SOEVE 0 0 0 000 uswyeugewneg iy usBuniyezsny - '
ﬂ u2yoaqlassemyase Bunjyauig - ydeqemyss wniuazsbunbiosiug mmi
0 00004 0 00001 0 0 0 000 yeyBneisuopnseAu| sneoples = 'l
b 04 6 8 i 9 S ¥ £ (4 )
Hn3 Hn3 N3 N3 dn3 dn3 N3 dn3 N3 dn3 dn3
yyezeb Hieysebyaseq | asyeleBjod (44114 1202 0z0e 6102 6102 810z 110z Heyyy "s0d
sjieseq uoAe( | Beneqiueses Jaysig ue|d ue|d ueld ue|d an ue|d uejd sjugabig
Jemwnp Jop Bunyejsey ¢ ayalaqynposdidney
£C-70bL H8zIyn
8l0Z'LL'9z  ‘wnieq il bl
9 alos 6102 Jyoissaqnsuonysaau] [ |

HOVEVMHDS

 LaVIS

-87-



0 19188 LiLgs 0 0 0 0 0 0 0 159007 uswyeugewneg Jny uabunjyezsny 6
Zje|dyioq Bunyejsag - yaequiry 69%0
0 858'4L 858k} 0 0 0 0 0 0 0 00'0 yayBeIsuonsaAuj sne opjes i
0 29861 7996} 0 0 0 0 0 0 0 00°0 usyBeisuonysany) sne uabunjyezsny 9l
0 79961 79861 0 0 0 0 0 0 0 000 uswyeugewneg Jny uabunjyezsny 6
0 £00'8- £00'8- 0 0 0 0 0 0 0 00'0 yeyBugysuonsanul sne uaBunjyezuig 8
0 £00'8- £00'8 0 0 0 0 0 0 0 000 usbunpusmnzsuonysaay| sne uabunjyezui3 }
azg|dysed BumyoiL3 - egenspie 9950
0 Z96'99€ 796°SET 0 0 0 0 0 000'6Z} 000°912 79186 yaxBigisuoiisaAy] sne opjes "Ll
0 796'79¢ 29662 0 0 0 0 0 000°621 000912 29'186' y@Bugisuoniisaau) sne usBunjyezsny 91
0 79679¢ 796562 0 0 0 0 0 000'621 000912 29'186' uswyeugewneg Jry usBunjyezsny g
nequin Ja1saaiauleq - usjjelssyjeq @mi
0 000°00Z 0 0 0 000°0L4 000°0€ 0 0 0 00°0 yeyBrigisuoiisanul sne opjes Ll
0 000°00Z 0 0 0 000°0L} 000°0€ 0 0 0 00'0 uayBnejsuonisany) sne uabunjyezsny ‘9L
0 000002 0 0 0 000702} 000'0¢ 0 0 0 00°0 uswyeugewneg Jnj uaBunjyezsny 8
J0ysqaijeg Bnzwi - JoypaLIpiEMm asv0
0 000°0% 000'0} 000'0¢ 0 0 0 0 0 00001 00°0 eyBigIsuOHNSaAU ShE Op|eS "Ll
0 000'0% 000'0L 000708 0 0 0 0 0 00001 00°0 yeyBugisuonisany) sne uabunjyezsny 9}
0 000°0F 000°0 000°0¢ 0 0 0 0 0 00001 00°0 uawyeugewneg Jny usbunjyezsny 6
Hey 1 yyedy| Bampey pun -gng 1570
0 ws') 1¥S') 0 0 0 0 0 0 0 00'0 JeyBgISuOSBA] SNE O[S ‘LL
0 198} 196} 0 0 0 0 0 0 0 00'0 yayBrgysuonyseau) sne usbunjyezsny 9l
0 L95°) i) 0 0 0 0 0 0 0 00'0 uswyeusiewneg Jny uebunjyezsny 6
laqeiBpigjejeidsuauuos - joypaliplem @
0 €8y £8% 0 0 0 0 0 0 0 00'0 yexBrgisuonisaiu] sne opjes ‘L)
0 £87 £8% 0 0 0 0 0 0 0 00'0 yeyBneIsuopyseau) sne usbunjyezsny ‘9l
uapnegac) pun uajyey usyoiebsyomspurub
3] 0l 6 B L 9 S L3 £ Z ]
Hn3 N3 on3 dn3 N3 on3 dn3 oan3 Hn3 ¥n3 dn3
Yyyezeb YieyseByeiaq | auyefebjod 44114 120z 020z 6102 6102 8102 L0z ey s0d
§)1a18q uoae( | benjaqiuesag iaysig ueld ueld ue|d uejd A uejd ueld siuqafig
jlemuwn Jop Bunyeissy ¢ aysiasagqpnposdidney
£T70PL J8ziyn
8L0Z'LL'9T  ‘wneq T —
5 e, 6102 Judissaqnsuopnseau; MG |

1avis

-88-



0 B0L'966 601966 0 0 0 0 0 0 0 07'96£ 758 uswyeugewneg Jnj uabunjyezsny 6
9 Y/ Jop neqsny wnz usiwyeusen Ei
0 005°E€E SpL9L ¥SE'LST 0 0 0 0 0 0 19'SP1'9L ueyBreisuonnsaAu) sne opjes "L
0 005848 Sp1'9L ¥6g'I8L 0 0 0 0 0 0 18619 oy bijeisuoijsanu) sne uaBunjyezsny 9k
0 00648 SpL'9s yeeLeL 0 0 0 0 0 0 L8'SPL 9L uswyeugewneg Jny uabunjyezsny 6
0 00008 0 000°081~ 0 0 0 0 0 0 00°0 yeyBugisuopisany| sne usBunjyezuiy ‘8
0 000'08t 0 000708t~ 0 0 0 0 0 0 00°0 uaBunpuamnzsuonpsau| sne uabunjyezur3 I
neqsnepueqyalg uauopl)saAu| t.a
0 00059 000'69 0 0 0 0 0 0 000°59 00'0 yexBrizisuoiyisay| sne opjes ‘Ll
0 00069 000'59 0 0 0 0 0 0 000'69 00' uexBrgsuopsanul sne uaBunjyezsny ‘91
0 000°59 000'59 0 0 0 0 0 0 00059 000 _ uswyeugewneg Jny uabunjyezsny 6
ongsng Bunjjejsi3 - egjeils Jayund sLv0
0 720'99 720'99 0 0 0 0 0 0 0 08'720'99 yoyBiigIsuoiNlsanuj sne oples ‘L
0 720'99 7Z0'99 0 0 0 0 0 0 0 08'220°99 yaybgisuoiiisanu) sne uaunjyezsny 91
g 220'99 22099 0 0 0 0 0 0 0 0822099 usliyeugiewneg Jny uabunjyezsny 6
Ze|dpoq Bunyeises Hopsisialg €190
0 L0S'€9 L0G'E9 0 0 0 0 0 0 0 0686867 e BIRISUOIISAAY| SnE oples "L
0 L05'€9 LOS'E9 0 0 0 0 0 0 0 06'86£'52 ey Belsuonnsaaul sne usBunjyezsny 9
0 L06'€9 L0S°E9 0 0 0 0 0 0 0 06'96¢'62 uauyeugewneg Jny usbunjyezsny B0
Bunisjues - agelisusyilg abejuesiuus | NSL
0 0002 0 0 0 0 0 0 0002 0 00'0 : yexBngIsuonsaAu| sne opjes "Ll
0 0002 0 0 0 0 0 0 0002 0 00'0 yeyBneisuonysaau) sne usbunjyezsny 91
uapneqas pun uajyaay uayoleibsyomspurib
0 0002 0 0 0 0 0 0 0007 0 00'0 UBHaNISPUIS) UOA quam3 uap Iy uaBunjyezsny 1
[e}ZUpey J0iqe9-H4d Buriepjiyseg :i
0 LyL'es 1yLES 0 (] 0 0 0 0 0 1¥'900'F HexBleIsuoNISaAU] Sne Op[es 1)
0 1ples LyLes 0 0 0 0 0 0 0 1¥'900'F uexBugisuonysanu) sne uabunjyezsny 9l
Lb a1 6 8 L . 5 14 £ 4 3
dan3 dn3 Hn3 AJn3 on3 N3 on3 yn3 on3 dn3 Hn3
Hyezeb Mieisebyeieq | auyelsbloq 44114 1202 0202 6102 6102 8102 1102 Heyu) s0d
s}jalaq uoAe(] | Geljeqiwesan Jaysig uejd uejd uejd ueld JA uejd uejd sjugabiz
Jlemwp) J9p Bunyeiseg ¢ ayoRaqpnposdiydney
£Th0pL J8ziyn
8L0Z'L1'9z  -wneg
g9  9)9g 6102 ydisiagnsuonisanuj

HOVEVMHDS 10V1S

-89-



uajneqny | 9pngqafisyey2sag pun -uyopm

sev0

0 198°19 19€°19 0 0 0 0 0 0 000°S 00'0 yexBiigISUIISEAU| SN OP[ES "L}
0 £98'19 19¢'19 0 0 0 0 0 0 000° 00'0 yeyBnersuonnsaau) sne usbunjyezsny ‘91
uapneqges) pun ugjyoay usyde|isyomspunib
0 (\T4:¥4 0292y 0 0 0 0 0 0 0 000 ‘USonISpUNIS) UOA qiam3 uap Jny uabunjyezsny !
0 Lyiye Lyl ye 0 0 0 0 0 0 000' 000 uawyeusiewneg Jn) uabunjyezsny 6
Zejdyieg Bunyyowi3 - sgeusinbjigfegensisbuy xﬁ
0 818'6S 818'65 0 0 0 0 0 0 0 TEEVE yexBigisuonsanu) sne oples i
0 818'GS 818'SS 0 0 0 0 0 0 0 ZE'CHE yexbiyeisuoinisany) sne usBunjyezsny ‘ol
0 218’55 918'6% 0 0 0 0 0 0 0 AR LY uswyeugewneg Jny usBunjyezsny 6
Ziejdysed Bunpyoui3 - syensing|i3 £8v0
0 952°G1 95204 0 0 0 0 0 000's 000'¢ 99'Zye'e yexBrgjsuonisaAu] sne opjes 'Lb
0 954°G) 950 0 0 0 0 0 0005 000°€ 98'ZYE'E ey Bygisuonsanu] sne uebunjyezsny ‘91
uapug)suafiebsuabiouuap
0 9561 95L01 0 0 0 0 0 000G 000°€ 98°2hee ug|[BLBjBLUI UOA QIaMI3 uap Iy uabunjyezsny 0l
Bunyejssny - [eesuajelbyien _.wi
0 00064 0 0 0 0 0 0 000°G} 0 00'0 yaxBngIsuOIIISaAU| SNE Opjes )
0 000'S} 0 0 0 0 0 0 000'G} 0 000 yeyBngisuoniysaay) sne uabunjyezsny ‘o)
0 000G} 0 0 0 0 0 0 000G} 0 00'0 uslyeugewneg Jny usBunjyezsny 8
yaequayaiaLzlun-yaequaydiaiiaqo Bampey pun -yag ai
0 165'819 165'819 0 0 0 0 0 0 000'609 00°000'8 yexBne)suoniSaAU) Sne opjes g1
0 165726 165926 0 0 0 0 0 0 000'G16 00°000'8 yoxBupisuonisaAy| sne usbunjyezsny 9}
0 LB5'¥26 L65¥26 0 0 0 0 0 0 000°GL6 000008 uswyeusjewneg Jnj usbunjyezsny 6
0 000'90¢- 000°90¢- 0 0 0 0 0 0 000°90¢- 000 oy BiyeisuonisaAu| sne usBunjyezury '8
0 000°90¢- 000°90¢- 0 0 0 0 0 0 000°90¢- 000 uabunpusmnzsuoyisaau| sne usbunjyezuig i
BunJaiues - 9| 28 aaniquaboquisjspues e_.i
0 601'966 604°966 0 0 0 0 0 0 0 0Z'86¢'¥58 yeyBlygIsuoiisaAu] sne opjes "L}
0 601'966 601966 0 0 0 0 0 0 0 0Z'86E'¥S8 yeyBneisuonsaau) sne uabunjyezsny 9}
Ll 0l 6 8 z 9 g ¥ £ C 3
un3 dn3 dn3 dn3 Hn3 dn3 dn3 yn3 dn3 dn3 un3
¥yezab J[eysebyaieq | euyefeblo4 2202 1202 020z 6102 6102 8107 L10Z Heyul 's0d
s)lataq uoae(q | Besaqyuesen laysig ue|d ueld uejd ueld IA ueld ueld siugabig
Jemuip sop Bunyejsen ¢ ayoiasagpnposdidney
£ v0vL Jszaun
L wnje
o e 6102 Juoissaqnsuonysonu) [ | |

HOVEYMHDS 10VIS

-90-



